5
lOJ

10*

o(W += Njet;jets) [pb]

10°

10?

10

Ratio to ATLAS

0.5

7000 GeV pp W
I | I I I | I I I | I 9
c
I . . . # —
gt multiplicity (€ >20,n|<2.8.E, >20n,|<2.4,p/nu>25M >40AR, >08)}
- =
— — AN
= PN
A\l
= Ho
— =R
— 1
- Jos
= 1
=
= — x
©
—— =
— <t
— -1 m
= Jo
- —H O
™
B = 1%
= m ATLAS EE
—  --O-- Herwig++ 2.7.1 default i
~  —— Herwig++ 2.7.1 UE-EE-5 N\ =
| --83-- Herwig 7.2.1 default NS B §
S ek
| — O
- 1 O
— | | | | | | | | | I E
:I | T T T | T T T | I:
— =2
1
L —0.5
1 1 1 1 | 1




	Contents
	Page 1


